Flip Rear Anti-Tip

Kiz Mobility
2

Item Number Part Number  Description Quantity
1-/» 82,92, 10-1 505580 Anti-Tip Kit, 12" FLIP EACH 1
12/ 82,92, 101 502886 Anti-Tip Kit, 12" FLIP PAIR 1
1.7, 8a, 90, 10-1 505581 Anti-Tip Kit, 16" FLIP EACH 1
1.7, 82,90, 10-| 502887 Anti-Tip Kit, 16" FLIP PAIR 1
1-7.8b.9b, 10-| 505562 Anti-Tip Kit, 20-24" FLIP EACH 1
1-7.8b.9b, 10-| 502888 Anti-Tip Kit, 20-24" FLIP PAIR 1
1 001906 Bushing, Anti-tip 1
2 001907 Anti-Tip Bracket 2
3 001908 Cover, Anti-Tip, R 1
4 001909 Cover, Anti-Tip, L 1
5 001910 Spring Anchor, Index, Anti-Tip 2
6 001911 Spring, Ext, .310D x 1.16LG x .038W 1

08-06-2025



[tem Number  Part Number  Description Quantity
7 001912 Cap, Tube, Anti-Tip 1
8a 001913 Tube, Anti-Tip, Short 1
Commonly used with 12" or 16" rear wheels
8b 001914 Tube, Anti-Tip, Long 1
Commonly used with 20" - 24" rear wheels
9b 119675 Extension Assembly, Anti-Tip, Long 1
Includes entire lower anti-tip.
10 101593 M6 x 25 BTN SHCS BLKZC 2
11 102616 M5 X 25 BHCS BLK ZC 1
12 102799 M5 x 12, BHCS, BZ w/Patch 2
13 102796 M5 x 6, Low SHCS, BIk Zn 2
14 100658 M6 Nylock Nut Blk Zn 1
15 100657 M5 Nylock Nut BIk Zn 1
16 100558 M6 Nyl Ins Domed Cap L/N Zc 1
17 102803 Washer Flat .250 X .500 X .027 Hx Blz 1

08-06-2025




